Ubungsblatt = LAngenmalRe

Verwandle in die angegebene Einheit!

8cm 6mm = mm
23km 30m = m
45 000mm = m
340mm = cm
60m 3cm = cm
3m 8dm = cm
9km 3m = dm
9Yskm = m

Schreibe als mehrnamige GroRe:

12 345mm=

34 000cm =

60 000mm =

33 344cm =
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Verwandle in die angegebene Einheit!

8cm 6mm = mm
23km 30m = m
45 000mm = m
340mm = cm
60m 3cm = cm
3m 8dm = cm
9km 3m = dm
9 Yakm = m

Schreibe als mehrnamige GroRe:

12 345mm=

34 000cm =

60 000mm =

33 344cm =

3m 8cm = mm
7m 5dm = mm
8km 4m = m
26m 6cm = mm
3800m = dm
1m 2dm 3mm = mm
6% m= cm
4dm 14cm = cm
345dm =

2 050mm =

24798 m =

335 234dm =

3m 8cm = mm
7m 5dm = mm
8km 4m = m
26m 6cm = mm
3 800m = dm
1m 2dm 3mm = mm
6% m= cm
4dm 14cm = cm
345dm =

2 050mm =

24798 m =

335 234dm =




